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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)
v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B — Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question carries
1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question carries
3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question carries
4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question carries
6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such questions
are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions has to be
attempted.

SECTION A

Macro Economics

is the total volume of money held by the public, for the purpose of

disposing off, at a particular point of time.
(Choose the correct alternative to fill in the blank) 1

(A)  Term deposits (B) Demand for money
(C)  Money supply (D) Credit creation
Under exchange rate system, the Central Bank and Government of the

country do not have any authority to interfere in the exchange rate determination.

(Choose the correct alternative to fill in the blank) 1
(A)  fixed (B) floating
(C)  managed floating (D) gold standard

58/S/2 P.T.O.



3. g vl e HE & W, % HROT fohelt g o YA e §

ST LY 3T & FhaT 2 |
(Feera T &t s & e wEt faehed &t = ifs)

(A) ST ! S faia 4 gfg
(B)  SifehT Qarett & T o Ft
(C) A o ffa o =t

(D) fodet 1 Sfvd e & 3fg

4. WH A foh, Tk Tedieh TefeereT H, s sieh AT STUTd I 10% § TG
25% L 4T & | TR ST TRT 1 T 1,000 FUIS TR Wd §Y, Ha&T Y Al Fe
uferz g & e |

(Feara T &t s & fore vt oo st = i)

(A) 10,000 (B) 4,000

(C) 6,000 (D) 5,000

5. Tefciiaa sheri st eagEeh e shife

Fog [ Tordt fg-aees srelsgaeen § o T 3cTe (GNP) ohal e 3ca1e
(GDP) ¥ 3R B &ahaT R |

w2 el fy-apren sreforaen H foen & e faer Rk o Y St 7
feu U et & ATl |, Feforfaa ° @ w@t farere o1 = ifsie

(A) FHIYT ] TT R AHIT2 AR |

(B) YT TR IANFIT2HAIR |
(C) HIT1 M2 TR |
(D) YT 1 32 AT TR |
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3. Keeping all other factors constant, trade surplus may arise in the Balance of

Payments of a nation because of

(Choose the correct alternative to fill in the blank) 1
(A) rise in export of coffee to Japan
(B)  fall in import of banking services
(C)  fall in exports of cereals

(D)  rise in remittances to abroad

4. Suppose in a hypothetical economy, the Central Bank increases the reserve ratio

from 10% to 25%. Keeping the amount of initial deposits constant at

T 1,000 crore, the amount of total money creation would be ¥ crore.
(Choose the correct alternative to fill in the blank) 1
(A) 10,000 (B) 4,000
(C©) 6,000 (D) 5,000
5. Read the following statements carefully : 1

Statement 1 :  Gross National Product (GNP) can be greater than Gross

Domestic Product (GDP) in a two-sector economy.
Statement 2 : Net factor income from abroad is zero in a two-sector economy.

In the light of the given statements, choose the correct alternative from the

following :

(A)  Statement 1 is true and Statement 2 is false.
(B)  Statement 1 is false and Statement 2 is true.
(C)  Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.
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6.  UEAN i, FHHfAfad § & hi-a1 faere ST 3 ST 3T o sie STuTiash
Heier hl eeiaT g |
(A) €T ST FGRT (MPC)/3TEa TR Y4 (APC)

(B)  HMHId ITHNT FGRT (MPC) < 3THd 3T Jgf (APC)
(C)  €Hid ITHNT TRt (MPC) = 3THd 3T Y (APC)
(D) €T ITHAT TGRT (MPC) = 1

7. Rl srederaer o, T % TATY-3TTY (break-even) T b1 ferfror KES
IERISIRETIES
(i) €T ITHN TG (MPC) = HHid s=rd SgRT (MPS)
(i) I (Y) =397 (C)
(i) = (S)=0
(iv)  STd 3T TG (APC) = 3i16d s=id Jaid (APS)
(Feara T &t s & fore wEt oo &t = i)

IEET I

(A) A (i)
(B) (i) AW (ii)
(C) (i) 3N (iii)
(D) (i) A (iv)

8.  FefcTRad sheri st eameieh 3Tea <hife :

FYF [ ;S ITHIT TG (APC) A YA H € ¢ Giare & &sier o et A
T afterd T gid ] |

FHYT2 . S T H NG BT @, A ST H gRada (AC) Tt oft 31 o ufteraq
(AY) B fersh 78 & Tk 2 |

foq 7T SRl o TR W, FAEfeRad § © 9=l forehed o1 = Hifg

(A) HIT 1 TT 8 IANFHIT2 AT T |

(B) YT 3T S ANFIT 2 TR |

(C) FHUT1 A2 T |

(D) HUT 1 T2 AT E |
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6. Identify, which of the following options exhibits the proportional relation
between consumption and disposable income. 1

(A) Marginal Propensity to Consume (MPC)/Average Propensity to

Consume (APC)

(B) Marginal Propensity to Consume (MPC) < Average Propensity to
Consume (APC)

© Marginal Propensity to Consume (MPC) = Average Propensity to
Consume (APC)

(D)  Marginal Propensity to Consume = 1

7. In an economy, break-even level of income can be determined, when
(1) Marginal Propensity to Consume (MPC) = Marginal Propensity to Save (MPS)
(1i1))  Income (Y) = Consumption (C)
(i11)  Savings (S)=10
(iv)  Average Propensity to Consume (APC) = Average Propensity to Save (APS)
(Choose the correct alternative to fill in the blank) 7
Alternatives :
(A)  Only (i)
(B) (i) and (ii)
(C)  (ii) and (iii)
(D) (1) and (iv)

8. Read the following statements carefully : 1

Statement 1 :  Average Propensity to Consume (APC) represents the change in
total income with respect to a given change in total consumption.

Statement 2 : When income changes, change in consumption (AC) can never
exceed the change in income (AY).

In the light of the given statements, choose the correct alternative from the

following :

(A)  Statement 1 is true and Statement 2 is false.

(B)  Statement 1 is false and Statement 2 is true.

(C)  Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.
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9. Uk hicdeh TfeTewe & fau a8 I d fo :
37d o= G (APS) = 0.4

I (Y) = T100 RS
T 3T (C) = TI0FIS
EENRICEIR: ) BT |
(Feara T &t s & fore wEt oo st = i)
(A) 5 B) 2
©) 4 (D) 10
10. T Eqe & QT Y forer (ROW) W forefter arait # gt afterd= s
FEiar g |
(Feara T &t s & fore vt oo &t = i)
(A) =R B) T
(C) =] (D) A
1. (&) “HeI eI J Y1 oagid o [fedred (3ere) §0H €, 0t o gorsh-gorsh drdt
YIUATAE I
T 31T 3T T o & TEHA § 2 379 I o T H o ST ST |

AYAT
(@) =T WA % =1 T 37 TAT 56k HH Bl oh U1 o SHROI bl L@ifohd shiSTC |

12, fIU T 7Rl 3 STMER W, |1 AN W 8 qe I8 (NVARC)  Te &l 3FHH

SRS
HAG. 73 i @ HIS 1)
(i) | fershr 2,500
(i) | <o OTeT T ST 700
(i) | &1 | gfEd 100
(iv) | Gohat T 500
(v) | SIS STeE 300
(vi) | & Fraw 400
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9. For a hypothetical economy, it is known that :
Average Propensity to Save (APS) = 04
Income (Y) = ¥ 100 crore
Autonomous Consumption (E) = < 10crore

The value of investment multiplier would be
(Choose the correct alternative to fill in the blank) 1

(A) 5 B) 2
< 4 (D) 10
10. The account of Balance of Payments reflects the net changes in
financial claims on the Rest of the World (ROW).
(Choose the correct alternative to fill in the blank) 1
(A)  Trade (B) Capital
(C)  Current (D) Visible
11. (a) “Devaluation of currency and depreciation of currency have the same

implications, but they originate from divergent sources.”

Do you agree with the given statement ? Give valid reason in support of

your answer. 3
OR
(b)  Outline the meaning and reasons behind narrowing down of Current
Account Deficit. 3

12.  On the basis of the given data, estimate the value of Net Value Added at Factor

Cost (NVAF(Q) : 3
S. No. Items Amount (% in crore)
(i) | Sales 2,500
(i) | Purchase of raw material 700
(i) | Change in stock 100
(iv) | Gross Investment 500
(v) | Net Indirect Taxes 300
(vi) | Net Investment 400
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~
T el Sk
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13. (a) “When ex-ante Aggregate Demand (AD) falls short of ex-ante Aggregate

Supply (AS), it results in an accumulation of unintended inventories.”

Defend or refute the given statement, giving valid reasons in support of your

ansSwer.

OR

(b)  Assume the following for a hypothetical economy :
(1) Autonomous Consumption Expenditure (E) =T 25 crore
(i1)  Marginal Propensity to Save (MPS) = 0.1
(iii) Level of Income (Y) = T 2,000 crore
(iv)  Autonomous Investment (I) = T 25 crore

Is the economy in equilibrium situation ? Justify your answer with valid

calculations.

14.  Study the following image :

~
Reserve Bank of
India
|
N N N

Sell government
L Increase Reverse
Increase Repo Rate securities in the
Repo Rate
open market

(1) Identify the indicated situation.

(i1)  Explain any two steps which may be taken by RBI to correct the situation.

58/5/2 Page 11 P.T.O.
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“The Reserve Bank of India (RBI) performs the same function for the

government as the commercial banks perform for the general public.”

Discuss briefly any two such functions performed by the Central Bank for the

Government of India.

(a)
(b)

(a)

(b)

Differentiate between final goods and intermediate goods.

“Externalities can be classified into negative or positive, however it is not

necessary that they will be directly correlated with the Gross Domestic

Product.”

Do you agree with the given statement ? Give valid reasons in support of

your answer.

(1)

(ii)

(1)

(ii)

“The Union Budget 2023 —24 had proposed an allocation of
T 22,138 crore to the Micro, Small and Medium Enterprise (MSME)
Ministry.”

Identify and explain the objective that the government is trying to

achieve with the proposed expenditure.

State the formulae for calculating fiscal deficit and revenue deficit.

OR

“Tax revenues, an important component of revenue receipts, can be
further classified into two categories.”

Imagine yourself as a member of Department of Revenue of the
Government of India. Help your friend to identify and differentiate

between the two categories of taxes.

“A budget can be deficit, surplus or balanced.”
Do you agree with the given statement ? Give valid reasons in

support of your answer.

Page 13 P.T.O.
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TR 3TTf R forerrer
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ﬁwaﬁq:

I (4) ;A YT HT SIS H SATIR AL [T ST HRAT, STelfeh $8hl HaTHA| b

ST fohaT ST @ehaT © |

FRO(R) . WG GSI ST WA A BT R |

IEETR

(A) TR (A) 3R RO (R) THT T 8 R SR (R), ANTFRLT (A) T Tt
ST HAT R |

(B) YA (A) 3T FHWOT (R) ST TT §, Afeh SROT (R), 3frameq (A) Fi Tt
ST 78T AT 2 |

(C)  AMIFHIT (A) T 8, AT SHRUT (R) ST ¢ |
(D)  SATIFAT (A) TE 8, AfehT SHROT(R) T ¢ |
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SECTION B
Indian Economic Development

measure introduced in China led to the decline in its population as
well as sex ratio.
(Choose the correct alternative to fill in the blank)
(A) Nationalisation of capital goods
(B)  Denationalisation of capital goods
(C)  One-child norm
(D) Two-child norm

can be classified as one of the alternative sources of diversification
from farm output.
(Choose the correct alternative to fill in the blank)
(A)  Green Revolution (B) Horticulture

(C)  Organic Farming (D) Conventional Farming

Read the following statements — Assertion (A) and Reason (R). Choose the

correct alternative given below :

Assertion (A) :  Human capital cannot be traded in the market, whereas its

services can be traded.
Reason (R) : Human capital is intangible in nature.

Alternatives :

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

58/5/2 Page 15
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FYT [ SIS TR ERT AR HTY T ATHTAHT STeAYeloh/ TR &9 H
EECACRIRCIRIN
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IR, < F arfehear & & fimifeTer 38 & Ted o121 TSg &, qo1 34
A Tregi | ekt Tca gerd 2

(Feara Tt ol i 3 Tore wieh farened 1 = i)
(A) =M, Af® (B) UTfohed™, &1
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frefefad & o wet e it = i

(A)  TEAT SUL, TRA o THTSTETE 3Tefedaeel 79T off |
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(C) IR EThT ST SN & o Sfarid Hf0 G i AR fora o1 |

(D) A H ¥ohel =ie] 318 (GDP) H Frare o forg sitenfies & & <fifma weet
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36 dehfcdsh fou <t it qga RIfST S, ;ST SR o TS |
TAfAd 2 & | GHACEIREARCPERTIE LY
(A) AU HE

(B) TSUUR HE
(C) TSN
(D) S HTE
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Read the following statements carefully :

Statement I : The commercialisation of Indian agriculture was coercively
introduced by the colonial government.

Statement 2 :  Britishers had a two-fold motive behind the enforcement of food
crops production.

In the light of the given statements, choose the correct alternative from the

following :

(A)  Statement 1 is true and Statement 2 is false.
(B)  Statement 1 is false and Statement 2 is true.
(C)  Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

is geographically the largest nation among India, China and

Pakistan and its density is among the three nations.

(Choose the correct alternative to fill in the blanks)
(A)  China, highest (B) Pakistan, lowest
(C)  India, lowest (D) China, lowest

Identify the correct statement from the following :

(A) India adopted the socialistic economic system after Independence.
(B) Indian economic planning was implemented through Five Year Plans.

(C)  Land reforms under industrial sector were implemented by the Government
of India.

(D)  Policy initiatives in the industrial sector were responsible for decline in
Gross Domestic Product (GDP) in India.

Identify the alternate marketing channel that operates majorly in Punjab,
Haryana and Rajasthan. (Choose the correct alternative)
(A)  Apni Mandi

(B)  Hadapsar Mandi

(C)  Rythu Bazars

(D)  Uzhavar Sandies

Page 17 P.T.O.
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25. 1978 ® = yrw form g amifefer gumi o stara, faaeft Frarwment it serfda 1 &
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(A)  9oT &= (B) o &t
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(T T T 1 o 7w et forehed a1 = hifeTe)
(A) U AT BRAS AR
(B)  HFIT orTedt
(C)  RH HogRI HiEah(dsh shifd

)R EARERCEARRISE

27. SIS A HRA o ATATA-ATd T CHTTRehT FRisr sHTe W o, Sfefeh 3@ 31 a3 e
foh o |1 W 3T AT of |
(Feera T &t s & fofw wEt oo &t = hifsT)

(i ==

(i) T (oft <o)

(iii) R <T)

IEETR

(A)  Fd (i) B) (i) 3 (i)
(C) (i) 3 (i) (D) (i), (ii) 3 (i)

28. (&) AT I o AT fohed M ST ReTh1 Hohdlhl T Seel ShITTT |
HAAAT
(@ BNG Hifd T 9RA B WEA § ATHAR s foor 8, utq ariiRerfas

(ecological) 3T U SHehT ATARAT AR TE & 1
T STY TS 1T e & FEHA & 2 ST I oh FHL H e 10T T i1 |
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Under the economic reforms introduced in China in 1978, were set up to
attract foreign investors.
(Choose the correct alternative to fill in the blank)

(A)  Remittance Zones (B) Land Zones
(C)  Special Commune Zones (D) Special Economic Zones
In 1965, Mao introduced the under which students and

professionals were sent to work and learn from the countryside.
(Choose the correct alternative to fill in the blank)

(A)  Great Leap Forward Campaign
(B) Commune System
(C)  Great Proletarian Cultural Revolution

(D) Medium Term Development Plan

Britain maintained a monopoly control over India’s exports and imports while

the rest was allowed with a few other countries like
(Choose the correct alternative to fill in the blank)

(1) China
(i)  Ceylon (Sri Lanka)

(1)  Persia (Iran)

Alternatives :
(A)  Only (i) (B) (i) and (ii)
(C)  (ii) and (ii1) (D) (1), (i1) and (iii)

(a) Enumerate any three demographic indicators under the colonial rule.

OR

(b)  “Green Revolution made India self-sufficient in food grains, but was
criticized on ecological grounds.”
Do you agree with the given statement ? Present valid reasons in support of

your anSwer.
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29.  Identify the situation depicted in the given figure and explain any one strategy

to effectively overcome the problem. 3

Note :  The following question is for the Visually Impaired Candidates only in lieu of

Q. No. 29.
Explain any one strategy to effectively overcome the problem of global warming. 3
30. “Expenditure on different levels of education in India is in the same
proportion.”
Defend or refute the given statement, giving valid reasons. 4
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31. (a) “A sound agricultural marketing system works as the backbone of any
agro-system of any nation.”
Justify the above statement by listing any two steps taken by the Indian
government in this direction. 4
OR

(b) “Over the past few years, India has witnessed a shift from traditional
conventional farming to natural/organic farming.”’

Discuss briefly any two reasons behind this shift towards organic produce. 4

32.  On the basis of the data given below, outline and discuss the shift in employment

and output for China and Pakistan : 4
Sectoral Share of Employment and GVA (%) in 2018 — 2019
Sector Contribution to GVA Distribution of workforce
India China | Pakistan | India China Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100

Source : Human Development Report 2019 : Key Indicators of Asia and
Pacific 2019.

33. (a) (1) “As an economy grows, the number of employed persons in an
economy also increases; however, since 1991 India has come up as an
exception to this.”’

Do you agree with the given statement ? Give valid arguments in

support of your answer. 4
(i) Define disguised unemployment with a suitable example. 2
OR
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(b) (1) “Neha has been working in a multinational corporation since the past
five years on the payroll of the company”.
Identify and briefly explain the type of employment indicated in the

above statement. 3

(i) Name the indicator that is generally used for analysing the

employment situation in a country. Also discuss its importance. 3

34.  Read the following text carefully :

With the July 1991 budget, there was a clear switch in favour of a move
towards an outward-oriented, market-based economy. The liberalisation steps
initiated in the budget were very comprehensive although the pace remained

gradual and there were occasional hiccups.

The 1991 reforms did away with import licensing on all but a handful of
intermediate inputs and capital goods.

Consumer goods, accounting for approximately 30% of tariff lines,
remained under licensing, Only a decade later, after a successful challenge by
India’s trading partners at the World Trade Organisation (WTO), were these
goods freed of licensing.

Today, except for a handful of goods that are disallowed on
environmental/health/safety grounds, all goods may be imported without a license
or other restrictions.

With the removal of licensing, the tariff rates became effective restrictions
on imports. Therefore, a major task of the reforms has been to lower the tariff
rates. Tariff reductions have been mainly confined to non-agricultural, industrial
goods.

Therefore, the liberalization applies strictly to these goods. The reduction in
tariffs has been achieved through a gradual compression of the tariff rates. A
simultaneous rationalization of the tariff structure through a reduction in the

number of tariff bands helped in this direction.
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On the basis of the given text and common understanding, answer the following

questions :
(1) “The trade liberalization reforms initiated in 1991 budget were very
comprehensive.”

Justify the given statement explaining any two trade reforms introduced in

1991.

(i)  State any two areas in which tariff reductions were introduced.
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